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D”PZi MwYZ(m„Rbkxj) 

GKv`k †kÖwY  

mßg Aa¨vq (wÎ‡Kv‡YvwgwZ) 

 

1.       
  

  
       

 

  
  ỳwU wÎ‡KvYwgwZK AbycvZ|   

(K)          Gi gvb wbY©q Ki|     

(L)        Ges       Gi gvb wbY©q Ki|   

(M)            Gi gvb wbY©q Ki|    

 

2.       

 
       

 
       

 
       

 
 GKwU wÎ‡KvYwgwZK ivwk|    

(K)  ‡`LvI †h,        

 
      

 
   

(L)  DÏxc‡Ki  ivwkwUi gvb wbY©q Ki|  

(M)  DÏxc‡Ki  ivwkwUi mv‡_      

 
       

 
       

 
       

 
 Gi m¤úK© ¯’vcb Ki|      

                                     

3.          Ges                 

(K)  ỳwU †Kv‡Yi †hvMd‡ji mvBb I †KvmvBb m~ÎwU wjL|  

(L)  ‡`LvI †h,                      

(M)           Gi gvb wbY©q Ki|    

    

4.               Ges                

(K)                             Gi gvb wbY©q Ki|   

(L)            Gi gvb wbY©q Ki|       
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(M)  ‡`LvI †h,     (
   

 
)   

 

 
√             

5.                                                                   A 

 

                                                                                           
 

  
                                                               

                                                                               B                        C 

K. Sin150   Gi gvb wbY©q Ki | 

L. †`LvI †h  sinA = 
 

 
√  √   √  

M. sinB +sinC =AB Ges cosB + cosC = AC n‡j †`LvI †h  cos(B + C) =  
       

        
 

6.                                                          A 

 

                                                                                                                                                             

                                                                               B                        C 

wP‡Î   = 
 

  
    

K. tan
 

  
   tan

  

  
   tan

  

  
   tan

   

  
   Gi gvb wbY©q Ki | 

L. gvb wbY©q Ki:cos
2
2  + cos

2
6  + cos

2
10  + cos

2
14   

M.  †`LvI †h  cos   =
 

 
 √  √   √  

   7.                                                                      C 

 

                                                                                        20
0       

         45
0                        

                                                                                                                                                  

                                                                              A                                        B    

K. †`LvI †h  ,(seca - cosa)(coseca – sina)(tana + cota) = 1 

L. †`LvI †h  ,tan
    

 
 tan

     

 
 = 

√          

√        
 

M.  †`LvI †h  tanAtan2Atan3Atan4A= 3 
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8.  A + B + C =    , cosA = cosB cosC 

K. Sin3A  ‡K sinA AvKv‡i cÖKvk Ki | 

L. cÖgvb Ki †h, tanA = tanB + tanC  

M. cÖgvb Ki †h, tanBtanC=2 

 

9.              tan  =  
 

  
 

K. gvb wbY©q Ki : Sin105
0
 

L. Cos  FbvZ¥K n‡j  
                  

             
 Gi gvb wbY©q Ki | 

M.‡`LvI †h,12cos  + 5sin  = 13cos(    ) 

 

10.    = 
 

  
    

K. gvb wbY©q Ki : sin{n  +(-1)
n   

 
   †hLv‡b n abvZ¥K c~Y©msL¨v | 

L. gvb wbY©q Ki:16cos
  

 
 cos

   

 
  cos

   

 
  cos

   

 
    

M.  cot   cot3                       
 cÖgvb Ki | 

 

11. M=cos    cos    cos    cos    , N = sinA + cosA – SinB – cosB Ges P = tan    - 

tan     

K. cÖgvb Ki †h, P = 2tan     

L. N = 0 n‡j †`LvI †h, A + B = 
 

 
    

M. cÖgvb Ki †h, 16M = 3 
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12. „̀k¨Kí - 1 :      G cosA  +  cosB = sinC 

      „̀k¨Kí - 2 : √  cosA – cosB =     B Ges   √  sinA  +     B = sinB 

K. A + B =  = 
 

 
  (1 + tanA)(1 + tanB) = 2 

L. „̀k¨Kí-1 n‡Z †`LvI †h wÎfzRwU mg‡KvYx | 

M. „̀k¨Kí - 2 n‡Z cÖgvb Ki †h , Cosce(A - B) =   3 

13. P = sin  = 
 

  
 

K. x = 
   

 
  n‡j       -        – 2 tanx -        Gi gvb wbY©q Ki | 

L.  hw` 
 

 
       nq , Zvn‡j  

             

              
 Gi gvb wbY©q Ki | 

M. Sin5    ‡K P Gi Abycv‡Z cÖKvk Ki | 

 

14.  

 

 

 

 

K. tanA = 
 

√ 
 n‡j  sin2A Gi gvb wbY©q Ki | 

L. Cosecp - √  secp = 4 cÖgvb Ki | 

M. †`LvI †h,                              
 

 
 

 

 

  

𝜃 

 𝜋

 8
 

 𝜋

 
 

q 

r 

p 


